

1.) f.)  $(m+n) + p = m + (n+p)$  **Associativa**  
 $X = \{ p \in \mathbb{N} : (m+n) + p = m + (n+p) \}$

! St. Colucci, (0  $\in \mathbb{N}$ )

(\*)  $S: \mathbb{N} \rightarrow \mathbb{N}$  inj ( $S(n) = n^+$ )

$\nexists n \in \mathbb{N} \text{ t.q. } S(n) = 0$

$0 \stackrel{?}{\in} X \Rightarrow (m+n) + 0 = (m+n) = m + \underline{n}$   
 $= m + (n+0)$

$0 \in X$ . (BASE)

HI = P = PI : Suponha que  $p \stackrel{0}{\in} X$ . Queremos provar que  $S(p) \in X$

$(m+n) + S(p)$   
 $\in \mathbb{N}?$   $\in \mathbb{N} \checkmark$

!  $S(n) = n+1 \Rightarrow n + S(m) = n + m + 1 = S(n+m)$

Obs:  $n, m \in \mathbb{N}$

$n = \underbrace{1+1+\dots+1}_{n \text{ vezes}}$

$m+n \in \mathbb{N}$

$(m+1) + 1 + \dots + 1 = (S(m) + 1) + 1 + \dots + 1$   
 $n \text{ vezes}$   $n-1 \text{ vezes}$

$S(S(m)) + 1 + 1 + \dots + 1 \Rightarrow m+n = S^{\uparrow}(m)$   
 $S^2(m)$   $n-2 \text{ vezes}$   $\in \mathbb{N}$   $\in \mathbb{N} (*)$

Sabemos q/  $p \in X$  e queremos provar que  $S(p) \in X$ :

$$(m+n) + S(p) = m + (n + S(p))$$

$$\underbrace{(m+n)}_{\in \mathbb{N}} + \underbrace{S(p)}_{\in \mathbb{N}} = S(\underbrace{(m+n) + p}_{\text{|| HI}(p \in X)})$$

$$m + (n+p)$$

$$\begin{aligned} \Rightarrow S((m+n) + p) &= S(m + (n+p)) = m + \underline{S(n+p)} \\ &= m + (n + S(p)) \end{aligned}$$

PROVAMOS q/  $(m+n) + S(p) = m + (n + S(p))$   
 $S(p) \in X$

Como  $\forall p \in X \Rightarrow S(p) \in X$  pelo PIF:  $X = \mathbb{N}$  ■